

$$\frac{c}{a} \leq \alpha \cdot \beta \leq \frac{4}{3} \rightarrow 3\beta \cdot \beta \leq \frac{4}{3} \rightarrow \beta^2 \leq \frac{4}{9} \rightarrow \beta \leq \frac{2}{3} \rightarrow \frac{\beta+2}{3} = 1$$

$$\alpha \leq 3\beta$$

$$\text{اگر } \beta \leq \frac{2}{3} \rightarrow \alpha \leq 2 \rightarrow \alpha + \beta \leq \frac{\alpha}{3} \leq \frac{1}{3} \rightarrow \alpha \leq 1$$

$$\text{اگر } \beta \leq \frac{2}{3} \rightarrow \alpha \leq -2 \rightarrow \alpha + \beta \leq \frac{\alpha}{3} \leq -\frac{1}{3} \rightarrow \alpha \leq -1$$

$$1 - (-1) \leq 14$$

$$\frac{1}{\sqrt{\alpha}} + \frac{1}{\sqrt{\beta}} \leq 4 \rightarrow \frac{\sqrt{\beta} + \sqrt{\alpha}}{\sqrt{\alpha\beta}} \leq 4 \quad - 2$$

$$\left(\sqrt{\beta} + \sqrt{\alpha} \leq \frac{4}{3} \right)^2 \rightarrow \alpha + \beta + 2\sqrt{\alpha\beta} \leq \frac{16}{9} \rightarrow \alpha + \beta \leq \frac{13}{9}$$

$$\rightarrow \frac{m+14}{34} \leq \frac{13}{34} \rightarrow m \leq -1$$

$$mx^2 + 3x + 1 \leq 0 \rightarrow -x^2 + 3x + 1 \leq 0 \rightarrow \frac{c}{a} \leq -2$$

$$S \leq 1 \quad P_5 = 2$$

$$K \alpha^R + K \alpha^T - 9\alpha - 150 \\ + K \beta^R + K \beta^T - 9\beta - 150$$

$$K(\alpha^R + \beta^R) + K(\alpha^T + \beta^T) - 9(\alpha + \beta) - 150$$

$$K(1 - \frac{1}{2}(-1)) + K(1 - \frac{1}{2}(-1)) - 9(1) - 150$$

$$\Rightarrow 2K + 150 - 150 = 0 \quad 2K = 0 \Rightarrow K = 0$$

$$11\alpha^R + 0, 11\alpha^T + 1, 11\beta^R - 0, 11\beta^T$$

$$11\alpha(\alpha^R + \beta^R) + 11\alpha(\alpha^T - \beta^T) = 11\alpha(11 - 10) + 11\alpha(-1)(\sqrt{11} - 1)$$

$$= 11\sqrt{11} + 11 \Rightarrow 11(1 - 1) = 11\alpha\sqrt{11} - 11\sqrt{11} + 11$$

$$0 = 11\alpha - 11\sqrt{11} - 11 \Rightarrow \alpha = \frac{11\sqrt{11} - 11}{11}$$

$$x^2 - vx - 450 \rightarrow f^2 - vf - 450$$

$$\rightarrow f = \frac{v \pm \sqrt{v^2 + 4 \cdot 450}}{2} = \frac{v \pm \sqrt{49}}{2}$$

- x x x

$f = \frac{v + \sqrt{49}}{2}$

$$\rightarrow x = \pm \sqrt{\frac{v + \sqrt{49}}{2}} \rightarrow x_1 + x_2 = 0 \rightarrow f = 0$$

$$P_5(x_1, x_2) = \frac{(v + \sqrt{49})^2}{2} \rightarrow P_5 = \frac{(v + \sqrt{49})^2}{2}$$

$$x^2 + ax - 450 \rightarrow -\frac{b}{a} = \frac{1}{2}, P_5 = 4$$

$$\rightarrow \frac{a}{2} = -\frac{1}{2} + 1 \rightarrow a = 1$$

$$(a + \frac{1}{2})(b + \frac{1}{2}) = \frac{b}{2} \rightarrow -3 + 0 = \frac{b}{2} \rightarrow b = -6$$

$$\left[\frac{-6}{2} \right] = -3$$

$$\alpha + \beta \leq 1 \rightarrow \gamma_0 \beta^2 + \gamma_0 (\alpha^2 + \beta^2) - \gamma_0 \beta \leq 1V \quad -V$$

$$\rightarrow \gamma_0 \beta (\beta - 1) + \gamma_0 (\alpha^2 + \beta^2) \leq 1V \rightarrow$$

$$\gamma_0 \alpha \beta + \gamma_0 (\alpha^2 + \beta^2) \leq 1V \rightarrow \gamma_0 (-b) + \gamma_0 (1 + 2b) \leq 1V$$

$$\rightarrow b \leq \frac{1}{\gamma_0} \rightarrow \alpha - \beta \leq \sqrt{\alpha^2 + \beta^2 - 2\alpha\beta} \leq \sqrt{\frac{V_1}{V_0} - 2\left(\frac{1}{\gamma_0}\right)} \leq \sqrt{\frac{K}{b}}$$

$$x^2 - (a+1)x + a = 0 \quad - \wedge$$

$$\alpha - \beta \leq \frac{\sqrt{\Delta}}{|a|} \leq a - 1 \Rightarrow 2 \leq a \leq 3$$

$$x^2 - \left(\frac{a+1}{l_0}\right)x + b = 0 \rightarrow \alpha' - \beta' \leq \frac{\sqrt{\Delta}}{|a'|} \leq \sqrt{1 - 4b} \leq 2$$

$$\rightarrow b \leq \frac{1}{4} \rightarrow \left| (\alpha, \beta) - (\alpha', \beta') \right| \leq \sqrt{1 - \frac{1}{4}} = \frac{\sqrt{3}}{2}$$

$$\Delta > 0 \Rightarrow 1 - 4(-1 - m^2) \geq 1 + 4 + 4m^2 > 0 \quad - \wedge$$

$$\rightarrow 4m^2 > -5 \rightarrow m^2 > -\frac{5}{4} \rightarrow m^2 \geq 0 \rightarrow m^2 \geq -\frac{5}{4} \rightarrow m^2 \geq 0$$

$$\alpha^2 + \beta^2 \leq 1 - 2P \leq 1 - m^2 \rightarrow 1 - m^2 \leq 1 \rightarrow m^2 \geq 0$$

رأس سفي $\left| \begin{array}{c} x \\ y \end{array} \right.$ $\rightarrow \frac{x^2 - 1}{2} \rightarrow \frac{x+1}{2} - 1$ و $\frac{x-1}{2}$

$$x^2 + y^2 = 1 \rightarrow 2xy(x+y) - (x^2 + y^2) = 1 - 1 = 0$$

$$\rightarrow x+y = \frac{1}{2} \rightarrow x^2 + 2x - \frac{1}{2} = y^2 \rightarrow y = \frac{1}{2} - x$$